 Inter (Part-il) 2017 |
 IChemistry - -~ Groupd = PAPER:1I
. |Time: 20 Minutes| (OBJECTIVE TYPE) | Marks: 17 :
~ Note:Four possible znswers, A, B, C 2nd D to each question
o are given. The choice which you think is correct, fill that

g . circle in front of that question with Mafker or Pen ink in

- the answer-book. Cutting or filling two or more c:rcles wxll o
_result in zero mark in that question. :

- 1-1- ' Preparation of vegetable ghee involves:
‘<. (a) Halogenation - (b) Hydrogenation v
' (c) Hydroxylation .  (d) Dehydrogenation ..~ - .

* 2-  Peroxyacetylnitrate (PAN) is an imtant to human' ,
. beings and it affects:

AP e (a) Eyes ¥ ; ' (b) Ears s

| T {c) Stomach. s (d) Nose- - - ,

. 3- _ Which of the follovvmghasthe highest boilmg po:nt.
whtas (@) ‘Methanal - . (b) Ethanal :

. fc) Propanal  ~ °°  (d) 2-Hexanone ¥ e

4~ :Which of the followmg does not belong to alkaline "

g

ok

earth metals: -~ .
. (@) Be. ., e (b) Ra
i) Ba Y i m (&) Rn 1/‘

~ 5- . Ethers show the phenomenonof
-+ (a) Position i isomerism .; o, _
. (b) Metamerism v AR e e
. (¢) Functional gr.nup isomerism S TR
%% (d) Cisrans isomerism AR L G et S
- 8- Grignard reagent is reactive due to: s T IR e

... . {(a) The presence of the halogen at.om N
. Ab) The presence of Mgatom 7 :
*(c) The polarity of C-Mg ...ond 1/
 (d) None of these - ,
o 'Whlch of the follawing element |s not present

L

L AT ; ¥
B i Sl iy = -
o A i

ite). Silicon _ (b) Alum:mum T
* (c) Sodtum 1/ (d) Oxygen i
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& Phosphorus helps the growth of:
-~ (a) Rot (b) Leave R
(c) Stem (d) Seed V . it
- Which one of the foliowlng nmognnous lmn Is not ek
Bl ! mmlnnw\. ST |
1 (8) Cytosine "'(b) Adenine b
-~ () Thiamine \/ ~ (d) Uracil A g R G R
| hcatalystis used In contact process: 4
S () FeyQ o () Vg ¥ R o
) Wy (@) Ag,0
AL Moﬂhﬂollowlnghmmumlnoacld. il
~ (@) GycineY " (b) Lysine '
(o) Hislidine " (d) Glutamic acid E e Y
13 Which halogen occurs naturally In a poaltlve' i
- oxidationstate: - e R
~ (a) Fluorine () Chiorine.
s &m Ad) Jlodine v
B b ich mpoumllsal a universal solvent: - :
LSOO (O VT e T ) OGO T T
S @GHOH . () CHy=0=CHy - &
- W= Wnich of the fouowing fon has mlmum hydmlon o
m o (b) Ng*- -
et 2 ) Y ‘ <) Cal Ve T K
w18 Amongst m tollwrlng, the qompound that can be R
o - mest readily sulphommd, o | ‘ i
. (@Tokeney . (MBoene ¥
..~ '{c) Nitrobenzene . (d) Chlorobenzene: . =~ -~
e [ m acid'is m In the mnufaotun of aynthetlc' vl
" (@) Fomieadd () Qaloatd - - .
S “4(@ Qm M (d) muq ag‘d V ;
Gomdinaﬁon number of pt in [ptel(No,)(NH,),] is- S
i -}a..-(al 2 e (b) 4 N e
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